Temperature and Drawing graph

*Three systems for measuring temperature are widely used: Celsius scale, Kelvin scale and
Fahrenheit scale.

*Units of Temperature

Fahrenheit (°F) , Celsius (°C) and kelvin (K)

*How to convert between these different scales:

+* From Celsius to kelvin K=°C+273

** From Celsius to Fahrenheit °F= (°C x g) +32

X/

** From Fahrenheit to Celsius °C = (°F - 32) xg
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» Example 1: Convert 98.6° Fahrenheit (normal body temperature) to Celsius and kelvin
scales.

O Solution: °C = (°F -32) x 7 =(98.6° - 32) x§=66.6x§=

=333/9=37°C

K=°C+273=37°+273=310K




» Example 2: Convert 26° Celsius (a nice warm day) to Fahrenheit and kelvin scales.

O Solution: K =°C + 273 =26°+ 273 =299K

°F = (°C><§) +32=(26° x §)+32=46.8+32=78.8°F

Drawing a graph

A graph is drawn to show a relationship between 2 quantities. It consists of two axes called
the x-axis (horizontal) and y-axis (vertical) axes. They both intersect at a point called the
origin.

Generally the dependant variable (that you measure) is plotted along the y-axis while the
independent variable (that you control in the experiment) is plotted along the x-axis.

The line graph: when all the points have been on the graph in form of straight line.
The liner equation (equation of straight-line graph) has the form: (Y = mx * b)
% m-> Slope value

% % b-> Intercept value

Example: drawing a graph that represent the relationship between the age of American children
(years) and their height (cm) in years 1970-1990 and find the slope and intercept of its linear
equation.

American children 1970-1990

linear fitage 2 year has 40 cm height
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The slope =12.5 the intercept = (+5.3 cm).




